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Part A (33 x1=33)

Answer all questions.
1. What does Wordsworth mean by ‘Life and Food”?
(a) Memories (b) Food to eat
(¢) Music and food (d) Books

2. To whom is the poet speaking the poem “Tintern Abbey”
(a) Coleridge (b) A Stranger
(¢) His sister Dorothy (d) A co - traveler

3. What mountain did the maid in Kubla Kahn sing of?
(a) Mount Abora (b) Sinai
(¢c) Kilimanjaro (d) Olympus
4. What instrument did the Abyssinian maid play in the
poem Kubla Khan?
(a) Lyre (b) Flute
(¢) Dulcimer (d) Tambor



10.

11.

To whom 1s the poet addressing in the poem “Ode on a
Grecian Urn”

(a) God (b) Grecian Urn
(¢ Men and Women (d) Nature

How does the poet describe the urn?
(a) Historian (b) Beauty
(¢) Old age (d) Poet

Who is the “azure sister” of the West wind?
(a) The blue sky (b) A young maiden
(¢) The spring wind (d) Shelley’ s sister

Who is Maenad?

(a) The Spring Wind

(b) The Azure sky

(¢) The flowing water

(d) Spiritual being that is found around God Dionysus.

Who is the speaker in the poem “My Last Duchess”?
(a) The Duchess (b) The Duke of Ferrara
(¢) The painter (d) The poet

Who painted the portrait of the “Last Duchess”?
(a) The Duke of Ferrara

(b) Duchess herself

(¢) Fra Pandolf

(d) Picasso

What is the Damozel’s hair compared to?
(a) Sunshine (b) Cascade
(c) Waterfall (d) Yellow like ripe corn
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12.

13.

14.

15.

16.

17.

Where is the Damozel standing?

(a)
(b)
(©
(d)

“Rampart” of heaven
In the garden
In the palace

In her castle

What does the tolling of the bells reminds the lover of?

(a)
(b)
(©)
(d)

Foot steps of the damozel
The church prayer

The war he has to fight
The dawn

What is boring for Ulysses?

(a)
(b)
(©
(d)

Travelling
Reading
To be stationary at one place

Conversing

Who is Telemachus?

(@)
©

Son of Ulysses (b) Friend of Ulysses
A co-sailor (d) Captain of the ship

Who is the speaker in the poem “Ulysses”?

(a)
(©

Telemachus (b) Ulysses

A Co-sailor (d) Penelope

Where is the Dover Beach located?

(a)
(b)
(©
(d)

It is an imaginary place
Southern coast of England
In the Thames

Pacific Ocean
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Name the Greek playwright that Arnold refers to in
The Dover Beach

(a) Homer (b) Virgil

(¢) Seneca (d) Sophocles

What is the name of the sea the playwright mentioned in
the poem “the Dover Beach and is standing next to?

(a) Black Sea (b) Mediterranean sea

(¢) Aegean Sea (d) Red Sea

What is the Damozel holding in her hands?

(a) Three lilies (b) A twig

(¢) A lotus flower (d) A flute

What is the title of the Ballad that is carved on the
Chimney?

(a) Children of Heaven

(b) The Dream Children

(¢) The Children

(d) The Children in the Wood

Who is Mrs. Field?

(a) Lamb’s neighbour

(b) Lamb’s sister

(¢) Lamb’s Grandmother

(d) Lamb’s daughter
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23.

24.

25.

26.

27.

28.

With whom does Carlyle associate the term “Unconscious

Intellect”?
(a) Dante (b) Shakespeare
(¢) Virgil (d) Petrarch

Whose poem does Ruskin discuss in his Sesame?
(a) Keat’s Ode on a Grecian Urn

(b) Tennyson’s Ulysses

(¢) Milton’s Lycidas

(d) Arnold’s The Dover Beach

Who is the Father of Italian language according to
Carlyle?

(a) Chaucer (b) Dante

(¢) Petrarch (d) Boccaccio

Who owns the property where the Martins live?
(a) Mr. Weston (b) Mr. Woodhouse
(¢c) John Knightly (d) Mr. Knightley

Why does Emma consider Robert Martin unworthy of

Harriert’s interest?
(a) Heis too old (b) He is unattractive

(¢) Heis a farmer (d) He is a notorious

Why did Frank Churchill go to London?
(a) On a pleasure trip (b) Business meeting

(¢) For a hair cut (d) To watch a movie
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29.

30.

31.

32.

33.

34.

What is the name of estate where Emma and her father
live?

(a) Manderley (b) Chatsworth
(c) Hastings (d) Hartfield

Where is the novel Kenilworth set?
(a) France (b) England
(¢c) Australia (d) Africa

Where does A Tale of Two Cities take place?
(a) England and the United States

(b) England and France

(¢) England and Ireland

(d) In the United states only

What is Jarvis Lorry’s occupation?
(a) Doctor (b) Driver
(¢) Teacher (d) Clerk in a Bank

How long did Doctor Manette spend in prison?

(a) 36 years (b) 18 years
(¢) 10 years (d) 1year
Part B (7Tx6=42)

Answer all questions by choosing either (a) or (b).

(a) How does Wordsworth consider nature?

Or

(b) Elaborate on the ‘imaginative sensibility’ of
Coleridge in “Kubla Khan”
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35.

36.

37.

38.

39.

40.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

The West wind is the destroyer and preserver.
Justify.

Or

Comment on the structure of the poem “Ode on a
Grecian Urn”

Discuss the features of dramatic monologue in
“My Last Duchess”.

Or
Critically analyse the poem “The Blessed Damozel”
Discuss Ulysses as a Dramatic Monologue.

Or

Trace the loss of religious faith as portrayed in
The Dover Beach.

List Carlyle’s opinion on Shakespeare.
Or

How does Lamb describe the pathetic life of
Chimney Sweepers?

Sketch the character of Frank Churchill
Or

Why was Doctor Manette imprisoned?

Why does Emma say that she will never marry?

Or

Comment on the central idea of the novel
A Tale of Two Cities.
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Time : 2 Hours Maximum : 75 Marks

Part A (833 x1=33)

Answer all questions.
1. What are the three theories of Poe in composition of a
literary work?
(a) Length, Method and Unit of effects
(b) Theme, form and diction
(c) Characters, style, language

(d) Narration, style and theme

2. Which novel of Charles Dickens is declared faulty by Poe?
(a) Tale of Two cities
(b) Great Expectations
(c) Barnaby Rudge
(d) Oliver twist



Which politician does Thoreau criticize in his essay?
(a) Thomas Jefferson (b) John F. Kennedy

(¢) Abraham Lincoln (d) Daniel Webster
Where did Thoreau write civil Disobedience?

(a) Mexico (b) Spain

(¢) Massachusetts (d) New York

Whose novels are like fluid puddings according to Henry

James?

(a) Tolstoy and Dostoevsky
(b) Richardson and Fielding
(¢) Smollett and Sterne

(d) Twain and Melville

Which novel according to Henry James has
systematic design”?

(a) Silas Marner (b) Middle March

(¢) Oliver Twist (d) Vanity Fair

How many lines are there in the poem “The Raven”?
(a) 108 (b) 8

(o 32 (d) 48

no

When the author first heard “the tapping at his chamber

door” whom did he thought is the visitor?
(a) His Lady Love

(b) The Raven

(c) Some late night visitor

(d) Ghost
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10.

11.

12.

13.

14.

Whose death does the poem “When Lilacs Last in the
Dooryard Bloomed”?

(a)
(b)
(©
(d)

Abraham Lincoln
John Brown
Stonewall Jackson

His Mother

What does the “Western star” symbolise?

(a)
(c)

Lincoln (b) Constellation

Whitman (d) Whitman’s mother

How does Emily Dickinson personify death?

(a) As suitor Young Man

(b) Her father

(c) Her sister

(d) Her mother

What is a “Tippet”?

(a) A bird (b) An animal

(¢) An ornament (d) An old fashioned shawl
What does Robert Frost mean by “Good fence”?

(a) Brick wall (b) Personal boundaries
() House (d) Gate

What is Jackson Island?

(a) A small Island in the middle of the Mississippi river
(b) A tavern in town

(¢) A park in New York

(d) A theatre
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15.

16.

17.

18.

19.

20.

21.

What insect does Tom release in church?

(a) A grasshopper (b) Aladybug

() Atick (d) A pinch-bug

How does Injun Joe kill Dr. Robertson?

(a) With Potters knife (b) With Tom’s knife

(c) With tombstone (d) With his bare hands
Who is the Founder of National Suicide Day?

(a) Helene right (b) Nel Wright

(¢) Ralph Peace (d) Shadrack

Why is Jude unable to get a job on the project to build a
road to the river?

(a) He has no experience

(b) He is not white

(¢) He does not have Union membership

(d) He is not strong

After years apart, what causes Nel to visit Sula
(a) Eva’s death

(b) Sula’s sickness

(¢) Ajax’s abandonment

(d) Jude’s letter

Where did Martin Bober immigrate to America from’?
(a) Russia (b) Poland

(¢) India (d) China

What legendary figure is Frankie Alpine obsessed with?
(a) Napoleon (b) St. Francis Assissi
(¢) King Arthur (d) Sir Perceval
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22.

23.

24.

25.

26.

27.

Who decides to have McDougal’s Cave bolted shut?
(a) dJudge Thatcher (b) Injun Joe
(¢) Mrs. Harper (d) Tom Sawyer

What gift does Frank Alpine give Helen Bober?
(a) The Bible

(b) Acar

(¢c) Perfume

(d) A leather bound version of Shakespeare and a scarf

Where did Frank Alpine grow up?
(a) California (b) New Jersy
(¢) Italy (d) Florida

What was Buff doing before the play begins?

(a) Laying railroad tracks

(b) Selling dishwashers

(¢) Working in a farm

(d) Robbing banks

What does happy tells Biff that he does in order to climb
the corporate ladder?

(a) Steals documents

(b) Takes bribes

(¢) Works overtime

(d) Acts friendly

How much Willy borrow from Charley to pass of every
week as his own salary?

(@) $200 ®) $50
(¢ $100 (d) $500
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28.

29.

30.

31.

32.

33.

34.

What is Willy’s ‘Florida idea”?

(a)
(©

Drive a car (b) Own a bungalow

Plant some seeds (d) Own a shop

Where did Biff go when he was not in touch with the
family for three months?

(a)
(c)

Jail (b) University
Australia (d) Boston

Where was Yank born?

(a)
(©

New York (b) Boston
Minnetosa (d) Phily

Whose speech read aloud in the cellblock?

(a)
(©

Senator Jefferies (b) Representative Reed

Senator Queen (d) President Roosevelt

What is Gooper’s occupation?

(a)
(©

Planter (b) Doctor

Corporate lawyer (d) Teacher

Who was a cotton carnival Queen?

(a)
(c)

Maggie (b) Ms. Sally
Big Mama (d) Mae
Part B (7x6=42)

Answer all questions by choosing either (a) or (b).

(a)

(b)

Write a note on Poe’s idea about length of the poem?

Or
Discuss the political philosophy of Thoreau.
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35.

36.

37.

38.

39.

40.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

List Henry James’ argument Walter Besant.
Or
Discuss the bird Raven as a symbol.

Bring out the elegiac elements in when Lilacs Last
in the Dooryard Bloomed

Or

How is death personified In Emily Dickinson’s
poem.

Discuss the “Wall” as a symbol in the poem The
Mending Wall.

Or

Comment on choices and consequences with
reference to The Road not taken

Discuss how Mark Twain uses satire in the Sunday
school scene in The adventure of Tom Sawyer.

Or

Discuss Sula’s birthmark as a symbol.

Why does Bigger Thomas kill Mary Dalton?
Or

Why does Willy reject Charley’s job offer?

Discuss the significance of the character Paddy in
the play The Hairy’ Ape.

Or

Bring out the significance of Rodin’s statue “The
Thinker”.
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Part A (833x1=33)

Answer all questions.
Blackbird, downfall, breakfast — How are these words
formed?
(a) Composition (b) Derivation
(¢) Root creation (d) They are single words
Identify the brand name which is adopted as common
name.
(a) Shoe (b) Xerox
(¢) Cheetah (d) Royal

Bro, Prof, fridge are examples of

(a) Compounding (b) Blending
(¢) Clipping (d) Words by themselves



Who is the father of structuralism?
(a) Derrida (b) Bakhtin
(¢) Saussure (d) T.S.Eliot

The Law of Palatalisation was first introduced in the year
(&) 1990 (b) 1895

(¢ 1900 (d) 1980

Who attributes the origin of cerebrals in Sanskrit to the
combination of IE dental with the liquid 7 ‘I’

(a) Fortunatov’slaw (b) Law of Palatalisation

(¢) Grimm’s Law (d) Verner’s Law

Who is associated with the word ‘Sound Shifting’?

(a) Rasmusk Rask (b) Grimm

(¢) Verne (d) Chomsky

Grimm’s Law talks about the changes in the Germanic
language that happened. The first stage occurred in

(a) Historic period (b) Prehistoric period

(¢) Romantic period (d) Vedic period

What are the three languages which contributed to the
stock of English vocabulary?

(a) Greek, Latin, French

(b) Greek, Scandinavian, French

(¢) Latin, Scandinavian, French

(d) Greek, Latin, Sanskrit
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10.

11.

12.

13.

14.

15.

16.

Chester, Gloucester, Worcester are

(a) English words

(b) Greek words

(¢) Latin words

(d) Sanskrit words

Anonymous, Catastrophe, Idiosyncrasy. Identify the
origin of the words.

(a) French (b) Latin

() Greek (d) Scandinavian

Which language is the first global lingua franca?
(a) Latin (b) Greek
(c) English (d) French

Who is the author of Paradise Lost?
(a) Chaucer (b) Milton
(¢) Jonson (d) Johnson

Name the maritime explorer whose expedition led to the
colonial expansion of Europe?

(a) Raleigh (b) Drake
(¢) Spenser (d) Columbus
IPA stands for

(a) International Phonetics Association
(b) International Phonetic Alphabet
(¢) Indian Phonetic Association

(d) International Philosophic Association

How many diphthongs are there in English?

(a) 12 b)) 14
() 16 (d) 08
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17.

18.

19.

20.

21.

22.

23.

How many Front Vowels are there in English?

(@ 4 (b) 3
() 5 d 1
What is Diphthong?

(a) Combination of two short vowels

(b) Combination of one long vowel and one short vowel
(c) Combination of two long vowels

(d) Combination of a consonant and a vowel

Identify the word which is stressed in the following
sentence — Do you speak English?

(@ Do (b) You

(c) Speak (d) English

The stressed syllable on which the main change of pitch
is heard is called
(a) Assimilation (b) Tone

(c) Syntax (d) Nucleus

What denotes finality in a sentence?
(a) Rising tone (b) Falling-rising tone
(c) Falling tone (d) Nothing specific.

What is the order or arrangement of words and phrases
to form proper sentences called?

(a) Syntax (b) Syllable
(c) Semantics (d) Morphology

Language is basically
(a) Arbitrary (b) Logical
(c) Explanatory (d) Dependent
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24.

25.

26.

27.

28.

29.

30.

A particular variety of language that is characteristic of a
particular group of that language speakers called?

(a) Daialect (b) Parole
(c) Langue (d) Lingua franca

A person who tries to study a dialect from its parent
language called as

(a) Linguist (b) Applied linguist
(¢) Sociolinguist (d) Historical linguist

Tok Piskin is dialect of which language?

(a) Chinese (b) Greek
(¢) Latin (d) English
Which sound did Labov investigate?
(a) ‘17 (b) ‘S’

© 7 d P

Who coined the term Psycholinguistics?

(a) William Labov

(b) Noam Chomsky

(¢) Jaco Robert Kantor

(d) Saussure

The grammar of all European languages is modeled on
whose work?

(a) Dante (b) Chomsky

(¢) Saussure (d) Dionysius Thrax

From where does the name Wh-movement come from?
(a) Generative grammar

(b) Traditional grammar

(c) Transitional grammar

(d) Translation theory
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31.

32.

33.

34.

35.

36.

Who wrote Semantics — The study of meaning?

(a)
(©

Geoffrey Leech (b) Noam Chomsky

Saussure (d) Labov

Animal/dog, Flower/rose, Vegetable/carrot — How is the
relationship between these pairs described?

(a)
(c)

Polysemy (b) Hyponymy
Antonymy (d) Metonymy

Who is the author of Interpretation of Dreams?

(a)
(©

Derrida (b) Satre
Freud (d) dJung
Part B (7x6=42)

Answer all questions by choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)

Write a short note on the origin of English
Language.

Or

Comment on the status of English in India after
independence.

What is Zero derivation?

Or

Analyse Back Formation.

Discuss the Scandinavian and French influence on
English.
Or

Write a note on the Latin borrowings in English.
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37.

38.

39.

40.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explore the difference between American English
and British English.

Or

What are the two types of Phonetic transcriptions?
Discuss in detail.

Discuss the different branches of Phonetics.

Or

Analyse the design features of language as put
forward by Charles F. Hockett.

Explain the difference between Competence and
Performance.

Or

What are the different branches of linguistics?
Discuss.

Discuss the ‘Synchronic’ and ‘Diachronic’ studies
proposed by Saussure.

Or

Explain  the Phrase structure  rule in
Transformational Grammar.
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Part A (33x1=233)
Answer all questions.

1. In India, English is the mother tongue of

(a) Tamilians (b) Kannadigas

(¢) Anglo-Indians (d) Malayalis

2. Which language is the lingua franca of the world?
(a) Spanish (b) Greek
(¢) Latin (d) English
3. Which teaching - learning method was introduced by
Dwight W. Allen?
(a) Team Teaching (b) Brain Storming

(c) Micro teaching (d) Interactive teaching



Micro Teaching aims at

(a) Developing teaching skills in teaching

(b) Developing student’s ability

(¢) Achieving partial command of the subject

(d) Developing feedback skills in students

Who introduced the concepts of Concept
Performance?

(a) Noam Chomsky (b) Dwight W. Allen

(c) Saussure (d) Labov

What are the three components of a ‘Method’?
(a) Approach, Design, Procedure

(b) Approach, subject, Manner

(¢) Technique. Subject, enduser

(d) Approach, Procedure, Technique

and

Grammar Translation Method was originally used to

teach

(a) English and Spanish
(b) Greek and Latin

(c) Hebrew

(d) Sanskrit

Who said “the direct method can be used in conjunction
with other methods because it is probably not a method

at all but a principle?
(a) Franz Kafka (b) Edward Said
(¢) P.Gurrey (d) Bloomfield
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10.

11.

12.

13.

Which is otherwise called as Army Method?

(a) Audio- Lingual Approach

(b) Structural Approach

(¢)  Oral Approach

(d) Situational approach

What is recommendation made by The Coleman Report to
foreign language teaching in 1929?

(a) Reading based (b) Listening based

(c) Speaking based (d) Writing based

‘The text book is to be chewed and digested”. Who said
this?

(a) Pope (b) Bacon

(c) Swift (d) dJonson

The prose lessons are meant for teaching

and sentence structures.

(a) Grammar (b) Composition

(¢) Vocabulary (d) Comprehension

The Grammar teaching method that relies heavily on
memory is

(a) Traditional method

(b) Incidental method

(¢) Informal method

(d) Inductive - deductive method
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14.

15.

16.

17.

18.

The grammar teaching methodology that moves from
particular to the general, from known to the unknown is

(a) Traditional method

(b) Incidental method

(¢) Informal method

(d) Inductive method

This is all arrangement in which a group of teachers work

together to plan, conduct and evaluate the learning
activities.

(a) Micro Teaching (b) Macro Teaching
(c) Team Teaching (d) Playway method

Which of the following is NOT true of Team Teaching?

(a) Better utilization of resources

(b) Better financial benefits for teachers

(c) Better use of teaching techniques

(d) Better planning

In this stage the teacher can test the previous knowledge
about the same topic or area.

(a) Recitation (b) Exploration

(c) Assimilation (d) Organization

Who is the author of New Teaching for a New Age?
(a) A.H.T. Glover (b) F.R. Levis
(¢) T.S. Elot (d) Roland Barthes
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The approach that is based on questioning, investigation,
discussion, pupil activity.

(a) Evaluation approach
(b) Herbartian approach
(¢) Gloverian approach

(d) Barthian approach

Identify the Audio aid.
(a) Flash cards (b) Black board
(c) Movies (d) Tape recorder

Black board. Charts, pictures are aids that can be seen.
These are called

(a) Audio aids (b) Audiovisual aids
(¢)  Visual Aids (d) Study materials

Video signal consists of three colours. They are
(a) Red, Green, Blue (b) Red, Yellow, Green
(¢) Red, Blue Yellow (d) Red, Black, White

Google, Alta- Vista and Search bug are
(a) Software (b) Hardware
(¢) Antivirus (d) Search Engines

With whom 1is ‘branching programming or intrinsic
programming’ associated with?
(a) Norman A. Crowder

(b) B.F. Skinner

(¢) James Holland

(d) Noam Chomsky
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25.

26.

27.

28.

29.

A learning programme in which a student learns without
the presence of a teacher.

(a) Linear Programme

(b) Single Window learning

(¢) One -one learning

(d) Face to face learning

A Linear Programe in which rule is given complete form
and example is in incomplete form.

(a) Skip Linear

(b) Rule system

(¢) Conventional chain

(d) Criterion framing

What is the new concept of learning that was suggested
by Roth Kopf?

(a) Mathemagenics (b) Mathematics

(¢) Selflearning (d) Group learning

The history of programmed instruction dates back to

(a) Aristotle (b) Plato

(¢) Socrates (d) Theocritus

A casual reading without any particular objective like
newspaper, magazine reading is known as

(a) Scanning (b) Skimming
(c) Memorizing (d) Arguing
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30.

31.

32.

33.

34.

This is conducted at the end of the course to find out how
much the student has learnt from the course.

(a) Formative assessment

(b) Summative assessment

(¢) Evaluation

(d) Valuation

A test that is difficult gradually but the students are
given ample time to attend all the questions

(a) Power test (b) Speed test

(¢) Cumulative test (d) Objective test

A test that tests the discrimination of phonemes is

(a) Power test (b) Dictation test
(¢) Speed test (d) Formative assessment
A test in which the items are comparatively easy but time

limit is very short that few or none of the candidates can
complete the test.

(a) Power test
(b) Speed test
(c) Formative assessment

(d) Summative assessment
Part B (7Tx6=42)

Answer all questions, choosing either (a) or (b).

(a) Discuss the various functions of English Language
in India.

Or
(b) Comment on the skills of Blackboard writing.
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35.

36.

37.

38.

39.

40.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain the syntagmatic and paradigmatic relations
in language.

Or

What are the merits of bilingual method?

Explain the Structural approach.
Or

What are the methods of teaching prose?

List the methods and techniques of teaching poetry.
Or

Discuss the methods of teaching grammar.

Elucidate Team Teaching as an alternative method
to traditional teaching method.

Or

Discuss the concept of lesson planning and analyse
its steps.

What are the types of Audio- Visual aids? Discuss
their role in teaching.

Or

Explain the advantages of Self-instructional
material.

Explain the ways in which creativity call be
developed.

Or
What are the different language techniques?
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Time : 2 Hours

PART - A

Answer all the questions.

1. Where did the Poet in Prothalamion find the two beautiful maidens?

(a)In a palace

(c)In a mountain

2. What were the nymphs doing?

(a)they were flying in sky

(c)dancing merrily

3. Whom does John Donne address as ‘Busy Old fool’?

(a)Lady Love
(c)His fried

4. Who were assigned to guard the gate of Hell?

(a)Adam and Eve
(c)Sin and Death

5. Mac Flecknoe is an attack on whom?

(a)Thomas Shadwell
(c)John Milton

(b)In heaven

(d)Near the River Thames

(b)playing in beach

COURSE CODE
205211

Maximum : 75 Marks
(33X 1=33)

(d)collecting flowers to make the bridal crown

(b)His son
(d)The Sun

(b)Satan and Beelzebub
(d)Purity and Honesty

(b)William Shakespeare
(d)Queen Elizabeth
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10.

Name the capital city that Mac Fleck-noe rules.

(a)Nonsense

(c)Augusta

In the Poem Tintern Abbey the Poet rests under

(a)the bridge

(c)Christmas tree

(b)dullness
(d)Trivia

(b)dark sycamore
(d)dark Willow

To Wordsworth the memories recollected at Tintern Abbey are

(a)serene and blessed

(c)monotonous

(b)traumatic

(d)junremembered

Why does the Poet use the word ’Still” to describe the Urn?

(a)because it is silent

(c)because it is a painting

Where is Tempe?

(a)A Valley in Greece
(c)Mountain in Alps

(b)because it is an inanimate

(d)because it beyond the temporal effects of time.

(b)Desert in Egypt
(d)Sea
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11.

12.

13.

14.

15.

What is the Lady of the Shalott forbidden to do?

(a)To sing (b)To look down upon the town of Camelot
(¢)To hunt (d)To get married

Which object does the Lady of Shalott use to glimpse the world without directly looking at it?

(a)mirror (b)telescope

(c)binocular (d)microscope

What was the behaviour of the Duchess the Duke was not able to put up with?

(a)absence of snobbishness (b)her haughtiness
(c)her pride (d)her timidity

The Duke ’gavecommands’. Explain

(a)commanded the servants (b)ordered for a painting

(c)ordered to kill the Duchess (d)commanded the Duchess to stop smiling

What type of poem is “The Scholar Gipsy™?

(a)Ode (b)Sonnet
(c)Pastoral elegy (d)Epic
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16.

17.

18.

19.

20.

Whom does the Scholar Gipsy live with?

(a)A Professor (b)His Parents
(c)In a Church with Pastor (d)a group of Gypsies

Which is ‘no country for old man’?

(a)Ireland (b)France
(o)ltaly (d)Canada

How does Madame Sosostris foretell?

(a)tarot card (b)almanac

(c)reading palm (d)reading numbers

What 1s the third event that Emily Dickinson is waiting for?

(a)marriage (b)journey
(c)study abroad (d)her own death

What is the flock that keeps making the undulations?

(a)Pigeons (b)Blue jays
(c)Humming bird (d)Sparrow
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21.

22.

23.

24.

25.

What is the women having for breakfast in the poem Sunday Morning?

(a)Oranges (b)Grapes
(c)bread and butter (d)roasted peanuts

In The Weary Blues, the musician is playing on ..........

(a)Fifth Avenue (b)Connaught Place

(c)Madison Avenue (d)Lenox Avenue

What has the poet in the poem Lady Lazarus tried to do once in every decade?

(a)commit suicide (b)go on a world trip

(c)engage in some holy ritual (d)dancing

Where was the scorpion hiding?

(a)beneath a table (b)beneath a sack of rice
(c)behind the door (d)inside the jar

The River that is depicted in the poem A River by A.K.Ramanujam is........

(a)Vaigai (b)Cauvery
(c)Ganges (d)Thamirabarani
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26.

217.

28.

29.

30.

When was the poem Waiting by Jayanth Mahapatra published?

(a)1975 (b)1979
(c)1999 (d)2000

What are the parents of the girl in the poem On the Contrariness of Dreams afraid of?

(a)dowry demands (b)girl’s behaviors

(c)son in law (d)the mother in law

A Hyacinth for Edith is a tribute to

(a)T.S.Eliot (b)Edith Sitwell
(c)Hyacinth (d)Ezra Pound

“They Lie”who are they referred to in the poem “Australia”?

(a)foreigners who ruled Australia (b)inhabitants of Australia

(c)the immigrants (d)The migrants

What does Moschus Moschiferus refer to?

(2)Musk deer (b)Kangaroo
(c)Indian Tiger (d)Tibetan elephant
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

How does the Black Man describe himself as?

(a)West African Sepia (b)Tall dark and handsome

(c)Dwarf and Black (d)White and Skinny

What is Isomolorukku?

(2)Child birth (b)Child’s first birth day

(c)marriage ceremony (d)naming ceremony

In the Children’s game, the pebbles are replaced by

(a)Stones (b)Swords
(c)Knife (d)Guns
PART - B

Answer all questions choosing either (a) or (b).

(a) Discuss John Donne’s “Sun Rising” as a Metaphysical Poem.

[OR]
(b) Analyse “Mac Flecknoe™as a political satire.

(a) Describe the Urn.

[OR]
(b) Illustrate “My Last Duchess” as a Dramatic Monologue.

(a) Analyze the setting of “The Scholar Gypsy”.

[OR]
(b) Consider “The Waste Land” as typical 20th century poem.

(a) Discuss ‘Death’ as the prominent theme in the poems of Emily Dickinson.

[OR]

(b) Discuss “Brahma” as a Transcendentalist poem.
(a) Analyse the theme of the poem “Advent 1996.

[OR]
(b) How does the poet described the city Madurai?

(a) Discuss the use of literary devices in “The Time around Scars”.

[OR]
(b) Analyse the poem “Australia”.

(a) What is the poet trying to convey in his poem “Ruins of Great House”?

[OR]

(b) Bring out the Post Colonial aspects in the poem “Telephone Conversation”.
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NEW MEDIA AND ADVERTISING
(CBCS - 2020 onwards)

PART - A

Answer all the questions.

l. - can be considered as the working memory of CPU.
(a)Printer (b)Scanner
(c)Potter (d)Registers

2. CPU consists of ..........

main subsystems.

(a)2 (b)3
(c)4 (d)5

3. In CRTs, the screen pixels are made from ..............
(a)Phosper (b)Sulphur
(c)Silver (d)Iron

4. ... is usually called as the kernel.
(a)Keyboard (b)Monitor
(c)CPU (d)0OS

5. Short term scheduler executes a process once in every .......... milliseconds
(a)10 (b)100
(c)1000 (d)10000

N1066
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9.

10.

......... is a program that combines multiple number of object codes.

(a)A Linker
(c)An Assembler

......... file cannot be deleted

(a)Batch file
(c)System file

....... is an example of ........operating system.

(a)Batch processing

(c)single - user

The ribbon contains ......... components

(a)3
(c)7

.......... is used for storing the data in the form of table.

(a)MS word
(c)MS Powerpoint

(b)The Compiler
(d)None of the above

(b)Executive file
(d)All the above

(b)Multitasking

(d)multi-user

(b)5
(d)9

(b)MS Excel
(d)MS Access
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1.

12.

13.

14.

15.

The WWW was developed in ..........

(2)1979
(c)1989

The salient feature of Web server is ..........

(a)Virtual hosting

(c)server side scripting

(b)1985
(d)1990

(b)Bandwidth congestion
(d)All the above

The program that run at the client side are known as the ............

(a)static webpage

(c)dynamic webpage

A website is launched with the help of ........

(a)FTP
(c)HTML

........ provide attractive content on site

(a)content navigation

(c)central navigation

(b)active documents

(d)passive documents

(b)HTTP
(d)TCP

(b)global navigation

(d)feature navigation
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16.

17.

18.

19.

20.

A page should load in ......... seconds.

(@)5 (b)10
(©)15 (d)20
According to Wetcraft, ........ is the most commonly used webserver.
(a)IIS (b)Lighttpd
(c)Apache (d)Cherokee

........... sites are used to preserve valuable electronic contents threatened with extinction.

(a)Archive (b)Phishing
(c)Gripe (d)Attack

..... transfers data between networks.

(a)Repeater (b)Router

(c)Modem (d)hub

Operating system of networked computers use .......... for handling error messages.
(a)SMTP (b)TCP

(c)ICMP (d)FTP
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21.

22.

23.

24.

25.

....... is used to find if a particular IP address exist or not.

(a)WAIS (b)PING
(c)Gopher (d)Archive
Each SMTP command is identified using a ........... code.

(a)two-letter (b)three-letter
(c)four-letter (d)five-letter
The traditional mode of teleconferencing enables only ....... among the participants.
(a)voice sharing (b)data sharing
(c)video sharing (d)all the above
Video conferencing can be divided into....... main groups.

(a)5 (b)4

(c)3 (d)2

........ introduced a new feature called ‘newsfeed’ for the first time in 2006.

(a)Twitter (b)Instagram
(c)Facebook (d)Snapchat
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26, e writing style 1s used to make a text interesting and indulging enough.

(a)Descriptive (b)Narrative
(c)Expositary (d)Aphoristic
27. ... has become the potent source of advertisement today.
(a)Magazine (b)Social media
(c)Television (d)Radio

28. The main objective of Public Relation Officers is .............

(a)Creating interest (b)Giving information
(c)Building the Brand (d)Boosting up the demand

29. The image is made up of many ..............

(a)circles (b)curves
(c)lines (d)pixels
30, .. is an open source software tool for video editing.
(a)Windows Movie Maker (b)Abode Premiere Pro
(c)Jahshaka (d)All the above
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31, file format supports data compression without any sort of loss.

(a)PNG (b)BMP
(c)GIF (d)JPEG
320 e can perform in lower bandwidth.
(a)Audio (b)Text
(c)Graphics (d)Animation
33, can list the nearby dealers, a comparison of the top brands and maps of the city.
(a)product catalogue (b)training tutorials
(c)buyer guide (d)information directories
PART - B (7X 6=42)

Answer all questions choosing either (a) or (b).

34.  (a) Explain the different types of pointing devices.

[OR]
(b) Comment on Cache Mechanism.
35. (a) How do you create back up data with Windows 10?

[OR]
(b) Explain the salient features of Ms Powerpoint 2010.

36. (a) What do you understand by Web administration?

[OR]
(b) Describe the different types of websites.

37.  (a) Write about the tools for new media and their users.

[OR]
(b) Comment on the OSI layer model.

38.  (a) Discuss the functionality of an Email.

[OR]

(b) Explain the data conferencing and its use.

39. (a) How is the linking of original sources of news and information along with background details helpful to the

writer?

[OR]
(b) Highlight the objectives of Public Relation.

40.  (a) Bring out the significance of streaming.

[OR]

(b) Discuss the advance impacts of multimedia.
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l.

4,

PART - A

Answer all the questions.

Venus and Adonais was published in the year .............

(a)1943 (b)1953
(c)1963 (d)1973

Susanna married .................

(a)Dr.John Hall (b)John Heminge
(c)Thomas Quincey (d)Henry Wriothesley

............ was period of chronicle plays and great comedies.

(2)1588-1593 (b)1594 - 1600
(¢)1601 - 1608 (d)1608-1612

The Globe Theatre was rebuilt by .......

(a)King Richard (b)King Henry
(c)King John (d)King James

............ are referred to as groundlings.

(a)The Rich (b)The poor

(c)The Aristocrats (d)The commoners
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10.

......... said that Shakespeare ‘tragedy seems to be skill, his comedy instinct”.

(a)Marlowe
(c)Dr.Johnson

29

(b)Ben Jonson
(d)Spenser

......... 1s not considered as dramatic romance.

(a)Twelfth Night
(¢)The Tempest

(b)The Winter’s Tale
(d)Cymbeline

Seneca’s “Ten Tragedies” is published in the year .......

(a)1481
(c)1681

(b)1581
(d)1571

“Titus Andronicus” comes under the category of Shakespeare’s ......tragedies.

(a)Roman
(c)Early

Shakespeare had written

(a)2
(©)6

(b)Historical
(d)Major

plays which focussed on Roman History.

(b)4
(d)8
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11.

12.

13.

14.

15.

The history plays of Shakespeare are derived from the

(a)Morality plays
(c)Mystery plays

“Twelfth Night” took place in .................

(a)Venice
(c)Rome

Sebastian is ............ brother.

(a)Olivia’s

(c)Antonio’s

Orsino compares himself to ...................

(a)Venus

(c)Actaeon

There are ....... parts in “Much Adc About Nothing”.

(2)2
(c)4

(b)Miracle plays
(d)Interludes

(b)Denmark
(d)Ilyria

(b)Viola’s
(d)Orsino’s

(b)Apollo
(d)Pluto

(b)3
(d)5
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17.

18.

19.

20.

....... identifies four types of Shakesperean humour.

(a)Plautus (b)Norrie Epstein
(c)Terence (d)Menander

“Orlando Furioso” was written by ...........

(a)Bandello (b)Terence
(c)Graham Greene (d)Robert Greene

The civil war between Scotland and England took place at ......in Henry IV part I.

(a)Shrewsbury (b)Denmark
(c)Athens (d)Salisbury

“An Essay on the Dramatic Character of Sir John Falstaff” was written by .......

(a)John Dryden (b)William Hazlitt

(c)Maurice Morgann (d)Samuel Johnson

......... said, “Shakespeare was not of an age, but for all”.

(a)Francis Bacon (b)Edmund Spenser
(c)Christopher Marlowe (d)Ben Jonson
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21.

22.

23.

24.

25.

Raphael’s Holinshed’s chronicles was appeared in the year ...........

(a)1567 (b)1587

(c)1467 (d)1487

“Renaissance” 1s ............ word.

(a)Latin (b)Greek

(c)an Italian (d)English

According to Stephen Gosson, both theatre and .......... are transgressive in nature.
(a)men (b)ywomen

(c)audience (d)all the above

.......... 1s the only Roman who was not influenced by Cloepatra’s charm.

(a)Octavius (b)Lepidus
(c)Enobarbus (d)Pompey
Enobarbus fails to notice ........ in human nature

(a)Common sense (b)Practical Wisdom
(c)Spiritual Element (d)All the above
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26.

27.

28.

29.

30.

Who said, “Age cannot wither her, nor custom stale her infinite variety”.

(a)Antony (b)Octavius
(c)Pompey (d)Enobarbus

The Central and most dramatic part of the structure of the revenge play is ..........

(a)Anticipation (b)Confrontation
(c)Delay (d)Fulfilment

......... points out that Hamlet proceeds utmost slowness, Macbeth acts with breathless rapidity.

(a)Coleridge (b) Shelley
(c) Wordsworth (d)Spenser
Hamlet has .......... revenge plots.

(a)2 (b)3

(c)4 (d)5

........... is not one of the attributes of the prototype black.

(a)Pride (b)Mercy
(c)Courage (d)Credulity
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31.

Othello........ Desdemona to death

(a)Stabs (b)Strangles
(c)Smothers (d)None of the above

32. Ariel assumed the shape of .............

33.

34.

35.

36.

37.

38.

39.

40.

(a)Harpy (b)Hound
(c)Eagle (d)Sea-nymph

........... helped prospero to flee Italy.

(a)Antonio (b)Sebestian
(c)Alonso (d)Gonzalo
PART - B

Answer all questions choosing either (a) or (b).

(a) Describe the four stages of Shakespeare’s works.

[OR]

(b) Examine the features of Elizabethan era.
(a) Distinguish the features of classical and romantic comedy.

[OR]

(b) Elucidate the characteristics of Shakespearean tragic hero.
(a) How are Shakespeare’s historics categorized?

[OR]
(b) Discuss the different sources of comedy in “Twelfth Night”.

(a) How is the theme of love portrayed in “Much Ado About Nothing™?

[OR]
(b) Why is “Henry IV Part 1” considered as a controversial play?

(a) Explain the plot of “Antony and Cloepatra”.

[OR]

(b) Elaborate on “Infinite variety” of Cleopatra.

(a) Examine Enobarbus’ role as a choric character in “Antony and Cleopatra™.

[OR]

(b) Consider Hamlet as a tragic hero.
(a) Analyse Iago’s plan against Othello.

[OR]

(b) Discuss “The Tempest” as a masque.
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PART - A (33X 1=33)

Answer all the questions.

1. What will be the adjective form of “Offence:?

(a)Offences (b)Oftensive
(c)Offensiveness (d)None of the above

2. A word that is used to join word is called ------------

(a)Conjunction (b)Proposition
(c)Adverb (d)Interjection

3. Which of the following is a noun phrase?

(2)The movie was boring (b)Across many rivers

(c)Around the sun (d)The choreographer was happy

4. What is the noun phrase in * The young man is here’?

(a)The young man (b)Man
(c)Young man (d)Is here

5. Which of the following is an adjective phrase?

(a)The girls are running very fast (b)She gave her baby a toy
(c)Before next week (d)The handbag is very classy and expensive
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10.

What is the adjective phrase in this sentence? The cabin beside the lake was already occupied when we arrived.

(a)When we arrived (b)Beside the lake
(c)Was already occupied (d)None of the above

Which of the following is an adverbial phrase?

(a)The exams were extremely tough (b)After the sunset

(c)Her eyes were mesmerizing (d)He loves to walk in the park

Find the word prepositional phrase modifies in the sentence: the wrestler fell off that mat earlier today.

(a)Mat (b)Wrestlers
(c)Fell (d)Earlier

The Doctor gave me a prescription ---- my cough

(a)For (b)With
(c)At (d)To

He gave a talk ---- the causes of Dengue fever.

(a)Of (b)On
(c)For (d)Off
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11.

12.

13.

14.

15.

There ---- lots of money under the sofa

(a)ls (b)Are

(c)Was (d)Were

Indians ---- a lot of junk food

(a)Eats (b)Eat

(c)Eaten (d)Eating

[ --—--- working all afternoon and have just finished the assignment
(a)Have been (b)Had been
(c)Shall be (d)Am

Rohan ----- the movie before he read the review

(a)Watches (b)Have watched
(c)Had watched (d)Was watching
The robber’s ------- by the police

(a)Have arrested (b)Have been arrested
(c)Was arrested (d)Had arrested
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16.

17.

18.

19.

20.

[--—--- to become successful

(a)Have always wanted (b)Am always wanted

(c)Was always wanted (d)Am always wanting

Ayan is not as tall as Ritwik. The sentence is in which degree?

(a)Positive (b)Comparative
(c)Superlative (d)None

The giraffe is the tallest animal in the world. The sentence is in which degree?

(a)Positive (b)Comparative
(c)Superlative (d)None

Last week our cat gave birth to a litter of kittens, but we didn’t know where------

(a)Is our cat (b)Our cat was
(c)Our cat 1s (d)Was our cat

Can you imagine ------- ?

(a)How cute they are (b)How cute are they
(c)How they are cute (d)Are they cute
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21.

22.

23.

24.

25.

Identify the simple sentence from the given options:

(a)l promised that I will do my best (b)I promised to do my best

(c)I will do my best and I promised it (d)d. I promised so that I will do my best

Identify the sentence: he is certain to be late so why to wait for him?

(a)Simple (b)Compound
(c)Complex (d)None of these

Transform the given sentence into assertive: How gorgeous is the sunset?

(a)How is the sunset so gorgeous? (b)The sunset is gorgeous, is n’t it?

(c)The sunset is very gorgeous (d)How gorgeous the sun set is!

Transform the given sentence into simple: she said that she was coming

(a)She will come today (b)She is coming
(c)She told of her coming (d)She told that she was coming

India will win the World Cup. That is certain

(a)lt is certain that India will win the World Cup (b)India will certainly win the World Cup

(c)Certainly, India will win the World Cup (d)Indian will win the World Cup
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26.

217.

28.

29.

30.

Identify the Clause: They left early.

(a)Noun clause
(c)Adverb clause

Identify the Clause: the time when they left early

(a)Noun clause
(c)Adverb clause

Identify the Clause: The claim that he expressed.

(a)Noun clause
(c)Adverb clause

The wise leader and politician ---- assassinated

(a)Are

(c)Have been

Sita or her brother’s

(a)ls
(c)Are

to be blamed.

(b)Adjective clause

(d)Declarative clause

(b)Adjective clause

(d)Relative clause

(b)Adjective clause

(d)Relative clause

(b)Has been
(d)Have had been

(b)Has
(d)Was
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32.

33.

34.

35.

36.

. - a good home is important

(a)Should a pet get (b)Does a per get
(c)If a pet gets (d)Whether a pet gets

Identify the sentence: That he is unreliable is well known

(a)Simple (b)Compound
(c)Complex (d)None of these

Identify the sentence: His son, the pride of his old age, is dead

(a)Simple (b)Compound
(c)Complex (d)None of these
PART - B

Answer all questions choosing either (a) or (b).

(a) what are the 8 parts of speech? Give one example for each.

[OR]

(b) Definition of Noun Phrases and its purpose with examples
(a) identify the Adjective phrase from the sentence:
1). The lady in the black coat was looking suspicious
i1). The house beside the dark forest is spooky.
111). The song on the CD is amazing
1v). A man in a clown suit scared the children last night.
v). The witness for the defense had a lot of evidence.

vi). The girls always wanted to visit the park beside the lake.

[OR]

(b) Write a short note on Adverbial phrase with suitable examples.
(a) Fill in the blanks with suitable preposition.
1). Physical activity is beneficial ---- health.
i1). Each boy and each girl was present ---- sweets.
ii1). Does the old lady object --- my smoking cigarettes?
iv). The beautiful lady was compared ----- the moon by the post.
v). Do not act ----- compulsion

vi). I like this tree - ----- the river.

(7X 6=42)



[OR]
(b) Define Concord with examples.

37.  (a) Fill in the blanks with suitable tenses.

1). He ------- in the States bbut he still not have a command over the English language. (Has been living /

Have been living).
i1). By the next month, we ---- the project (shall completed / Have Completed)
i11). Every boy and girl ----- in the class today. (Are present / Is present)

iv). He --- daily for a year now. (Has been exercising / Have been exercising )

V). I —-——-- this book since morning . (Has been reading / Had been reading)
vi). The Council ----- made its decision . (Have / Has).
[OR]

(b) b). What is the difference between Active voice and Passive voice with two examples for each?
38.  (a) Change the Degrees into Comparative and .Positive:
1). The Nile 1s one of the longest rivers
i1). Chennai is one of the biggest cities in India

i11). The Cow is one of the most useful animal

[OR]
(b) What is Noun Clause with examples?

39. (a) Change into Simple sentences:
1). He finished his work and went out for a walk
11). He was poor but he was honest
111). We must eat or we cannot live
iv). Not only did his uncle but his aunt too gave him money.
v). He must not be absent or he will be punished.

vi). You must pay the bill at once or return the goods.

[OR]
(b) What is transformation of sentences with examples?

40. (a) Briefly explain synthesis of sentence with examples?

[OR]
(b) Define Clause, its types with examples?
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